Let P be the point (3,4, —1), R be the point (1,2, —7), and Fé be the vector —3i — 2 +k

SCORE: /103 PTS
[a]  If PR isparallelto <—3,2—c¢,b+1>, find the value of b .
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[b]  Find ZRPQ.
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[c] Find the area of triangle POR .
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[d] Find the coordinates of (.
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[e] Fmd the genelal (Lo W ITTRITY L)) equation of the plane which contains P, (J and R .
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[f] Find parametric equations of the line which is perpendicular to the plane in part [¢], and also contains (.

[g] Find symmetric equations of the line which is parallel to the line in part [f], and also is perpendicular to the plane in part [e],
and also contains P . 1
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[h] Find a vector of magnitude 6 perpendicular to both PQ and PR.
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Find all octants in which xz <0 and ¥ <0 simultaneously. SCORE: /10 PTS
X?O u) O Z(_O,—-—soqkq on Oy 23
= )ﬂn.

\;1 Ve O % > O e

-------- L. _ﬁ,_#_( Zi




Consider the sphere x* + y* +z> +14x+8y —12z+65=0. SCORE: /15 PTS

[a] Find the equation of the yz — trace. Describe the yz —trace.
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In the diagram below, ABD and ACE are both line segments. SCORE: /10 PTS
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If i = AD and W= AC, find an expression for KB in terms of # and W .
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Fill in the blanks. List all correct answers. SCORE: /12 PTS
. e
[a]  Ifdi-ii =6, then if x il = - and [if]| = ﬁ;
2,0-35= <L+ X ,‘,j ~F2>
[b] If the terminal point of V =27 -3k is (4, —1, —8), then the initial point of V is (2 —] "5-)
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[c] The equation of the x — axis is tj = &= O and the equation of the Xz — plane is U= O

[d] If you start at the point (—1, — 5, 1), then move 3 units to the right, 8 units downward and 6 units backward,

you will be at the point (,’7,"21"7> ; (’)"(9 )’5—+5) j g)




